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&Te 2jera] : 2.30 wewil CHIL ] [ Qrss wHUCueaTger : 70
Time Allowed : 2.30 Hours | [ Maximum Marks : 70

Slejemraet : (1) Sarsg elarmss@pd slwurs ueurd o dreTsT ereamLSaman
siluTTggs Qamerareybd. FHULSeND GapuimLliber <emm
sasrentiiurerflb o L arnguwirg Cgflellsseam.

2) Beowd deg &S®mUY owulamar LEHGCL W USHELD
94 &G (HeusH@D Lwer(hds GCeuear(hd. LILBISET eUanFeUSN S
Quenfled LweT(HSSHe| .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&3| - 1/ PART -1
GOy : () IS g alammsas@EpsEh alenLwaflésse] . 15x1=15
i) Gasr@ssuul(erer wrHm eleLsalled Wb eHLeL W
adevLerwd CarpLgshdss @GMuILBHLear elleLulamenyb GCargg)
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. ‘uflewrmog QeupurmbE@ eTab Hrened Gleuetudl L eur :
(=) anmig eSemGlurs (<) abGar 13 Qeuflev
(@) GQLrigrerevdl () g.etev. evltemmev

The book ‘Process of organic evolution” was written by :

(a) Hardy - Weinberg (b) Hugo de Vries
(c) Dobzhansky (d) G.L. Stebbins

2.  aaflbar_sdld o drer srhmenn CrllenLwrss seurdla@n SHper GuHn o uflr

WBeser

(1) srrliyser (<=y) umed Wenser

(@) @prevser (r) yener Werger

The fishes which are capable of directly breathing atmospheric air
(a) carps (b) milk fishes

() murrels (d) catfishes

3.  armde Ll smer enalsg AL ETEGLD CleuetBm(H e cuena
(=) deorGuwmr (<) Ceol Lo (@) slem () wdle
The exotic fish which exhibits buccal incubation is

(a) Tilapia (b) Lates (c) Catla (d) Mugil

4. eLapl GrmeclSenmd eremig) :

(1) @O BpeTiq LMy

(=) @ Coudlwg Casr@ly, QbuGarmblaaiear ellaarfléng

(&) e® yamgger

() em QbuCarger b Jarmd FgnsaTGel o @mLTSSULIL L

<2, 60TIq LIMg &(ehL6oT edlenenri|lujb

Dinitrophenol is :

(a) an antibody

(b) a chemical group reacts with immunogen
(c) an antigen
(

d) not an immunogen but reacts with pre-formed antibodies




&G Qarhssiiul Leeuseie sflwrsl QurmbsTs Genant ergl ?

(<=1) rdGerMwm -
(<=,) ereyrl_ig GEmD T -
(@) HCreGeMwm )
(

) GUTisoan T -

3

LUt umsl y,esm
LFemns LT <&
Seauligyl urdl oy evsm

B LFeng LTS y,e&T

Which one of the following is not a correct pair ?

(@) Laminaria -
(b)
(©)
(d) Porphyra -

Enteromorpha -

Gracillaria -

Brown algae
Green algae

Red algae

Blue green algae

senLarlienl L HUUBSSHID wmbIer er(hsHEsTL(h

(=) gBsCrmenndlen
(@) @QulLCameb

(<) engdsCGarmavGuimil e

(/) <LoaiL g lq.6or

An example for immunosuppressive drug is

(@) Anthromycin

(c) Imidazole

sTevgafled gligLlilderenio
(=) @rds Up 2L hapnsl
(<) Qswssoafl Crmi
(&) Qsws Geopur®

() Qswés CFwedlipLli
Weak pulse in leg is a sign of

(a) peripheral vascular disease

(b)
(©)
(

d) heart failure

coronary artery disease

heart disorder

(b) Cyclosporin
(d) Amantidine

Crmruler oid@nlwurs Cgremmeorid.
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8.

10.

@ adCrgGarmder epadsanm FBIS IFeTTeD 2, e1g).
() 2 yeour wHmd 1 S (<) 1 peour wHmid 2 S
(@) 2 <peour womid 2 15T () 1 <peour womib 1 S

Each haemoglobin molecule consists of

(a) 2 alpha and 1 beta chain (b) 1 alpha and 2 beta chains

(c) 2 alpha and 2 beta chains (d) 1 alpha and 1 beta chain

er&.e0.64. eTemm gleneants GHDLUSSE FTTHS 6(H UMSITGLD.
(=) CruGLm eeuryev (=) Quail&edlwm

(@) eurddleflwum (FF) GeveriganeuflGerr

HIV is a member of the sub-family

(a) Rhabdovirus (b) Pencillia

() Vaccinia (d) Lentivirinae

QeuliLgsThsate rmiseaier WaFhss CarsEmad@ WPEEWLLTEL LiweTL(heigl

(1) eorCarmlymen eueT(HEHET (<) UT(HL UDENEISET
(@) NG 6Nl 1gev&eT (F) <l Coatsser
Which organism plays a vital role in pollination of trees in tropical forest ?

(a) Rhinoceros beetle (b) Humming birds

(c) Mimic moths (d) Orchid bees
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11. QuUTHSHIS.

(1) Sangmsier Qasrilur (i) 2L GCrrGurCamder ef wrhHp ader
2) sdi sfleurer Cameng (i) CaprGrenssen @HniE e

3) erarorEGarmyelafum (i) oL GCrrGurCamier embi@ et

4) sor&dwr (iv) @bniE e
() M-0O  @-@v) @)= (4)- (i)
() D-G  @-Gv) @)-0) @) - (i)
(@) -G @-0 -G @-3G
() -G -0 G- @) -@iv)

Match the following :

(1) Huntington’s chorea (i) Autosomal mutant allele
(2)  Sickle cell anemia (i) Homozygous recessive gene
(3) Agammaglobulinemia (iii) Autosomal dominant gene
(4) Thalassemia (iv) Recessive gene

@ @M-0 @-@Gv) ©)-@) (4 -

b @-G0@ @-Gv) -0 @ -

© M- @-0 ©-0v) @-3.)

d) @-@) @-OH OG- @-iv)

12. 2 @enerlipader wpse Carafige aleanereurs eumd emrreuraier GLwim

(=) Cansevrsrbs (<) Hlevig LlFrgen
(@) priglly eomreum (FF) <pmiGasmevi g
The first moult of Ascaris larva results in larva.

(a) Hexacanth (b) Cysticercus

(c) Rhabditi form (d) Onchosphere
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13.

14.

15.

Fapml (A) : B Brilgd, Geflr sreomgefled Lgidldadlude euripb wéser
sniger ai(hsafley sTHm e gemw LweTU(HSSIE e

smewid (R): <dles oearelled uigs erflurmener w6l (h &g eusen
ellenereurs FlE sjerefler epanl Crrasmiuerger GleuertludlL -

L FlesTmert.
(1) (A) -&fl, wpmid (R) -&f; (R) - (A) -eow eSlerd@Slng
(<) (A) -goum gpema (R) &l
() (A) -&ifl O (R) -Heum
() (A) -&f bOmID (R) -&f g eammed (R) - (A) -eow sflwurs eflersselldvene

Assertion (A) : In our country, during winter, most of the people living in New Delhi
use air filter in their homes.

Reason (R) : Excessive use of fossil fuel, which results in emission of hydrocarbons.

—
V]
g

A) is correct and (R) is also correct; (R) explains (A).
(b)
(©)
(d)

(R
)
A) is wrong but (R) is correct.
A) is correct and (R) is wrong.
)

(
(
(
(

A) is correct and (R) is also correct but (R) does not explain (A).

Qeuan_fgSleflen Wlanammbmed Wereneid @GHG@EL 8.8, Sjene

(=1) Q Sievew (<) T e

(@) P emev (FF) Q R, S enqvser
The ECG wave due to ventricular repolarization is

(@) Q wave (b) T wave

(c) P wave (d) Q R, Swaves

ELCLrOgaflefiony QFwQIsH@EHE STrerTd

(=) @dls serafleorar G ErsCamen <, &allsTeanTd
(<) @dls erelleorar Lrsh o HuSSHwTge

(@) <dls erafleomar CsmIpLiL] =p&edlsryemid
() @onbs <lerellorar EmpLiL) <,&elsTearTd
The reason for the ketogenesis is :

(a) Increased glucose catabolism

(b) Increased protein anabolism
(c) Increased fat catabolism
(d) Decreased fat catabolism
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L@&d! - 11/ PART - 11

SOy : ()  eTemeuGuienid oymi eSearmss@ns@ ellenwefldseyb. 6x2=12

Note :

16.

17.

18.

19.

20.

21.

i) ellenm erenr 24 -&@ eYlenL_wefllLg SL_L_TWLONEGL.
i)  Answer any six of the following.

ii) Question No. 24 is compulsory.

Q@@ efgear e e Csramaeiln@ BLsSlprer. UGCUTE e LPET 66
sTdled GSSHF g, oL Car Sjeuen Gatdmrer. Cg FWID Sjeuer 2 L edler

WG u@dude Qurmgligerme Cumed e auad eHUBHEDE. @&, 2 L efler
Yer LGF senssefled Hleblyem erhULl L IHOHD. @Femen 6Sl6TdEs.

A man is walking for a mile. A thorn pricks his leg so suddenly he bows down. At that
time he gets sudden sparking pain at his back. This is due to sudden change in the
position of back body muscles. Explain it.

G pnmedlen Hlenmaer erCHend QreamenL & Fnmis.

Mention any two advantages of solar energy.

Caumu®sgis : Coupbl Hpdlembiser whmib efl& Sbhmlemmiser.

Differentiate allopatric and sympatric species.

Fal_(h Werr cuerTiged QsmenTiqhdbs CeuanTigw g SeuSlIDTET LGRTL Wirg) ?

Which character is very essential for cultivable fishes in polyculture ?

wHm Blpaim Cgmfleom i umisamer @UbUBbLGUTgE CT -uder Goemenowmer

LeTUT(H&ET Wrened ?

What are the advantages of CT over other imaging techniques ?

o (menerliL(pedler curpsand spnHFlule Geuatlblenay erammed eremmen ?

What is exogenous phase in the lifecycle of Ascaris ?
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22.  @ubuCanm @GCermedlen jenwolidler LLID cuenIhgl LTSBIGmeTds @GDILIG(Hs.

Draw a labelled diagram of immunoglobulin.

23. 2.u9f sseuallwe LweaLHSSLILHE @D Femmsamer Guwifl(Hs.

Name the various fields in which the science of bioinformatics is applied.

24. Gleu@ allenralley, gl Br(H 2 GG fls W&SHETESTNS: 2 el W BILTE
wrpl Curdlpgl. wésdr CAsrensuler QbHs 2SS auaTidsl, 2 are| 2 HuddlenwiL
QU@MES LgIL uGdamers samLmll AWPSsSD Csrhi&dEmg. CMFRI, gL
Bleotugdsamer, B 2 ulfl eueriliy ugHsarrs wrHNESHE < Corsamer
eULEIS W eTerg. eleumm rHHlerTed ereueummrer Gl wHmb Curgés
&&TSTT UL sener Brd Fhdlés Crfl(Hwn ?

Very soon our country will be the world’s highest populous country. This alarming
rise in population forces us to find new areas for food production. CMFRI suggested

the conversion of mangrove forests into aquacultural areas. If so, what will be the
environmental and health problems we will be facing ?

@3l - 11/ PART - III

SOy : ()  eTemeuCuienid oym| leamssEnsE edlenweflsseyb. 6x3=18
ii) ellerm erewr 33 -8 eYlen_weflliLig SL_L_TWLONEGL.
Note : i)  Answer any six of the following.

ii) Question No. 33 is compulsory.

25. oy wrppliul L eleomgseter LweTUT(HEET Wrenel ?

What are the uses of transgenic animals ?

26. wrevl Cewgear Hamseaymbd Curg CHeuelCuppliiL®b Coudwu Fuil&EamehL
QUIT(BETSHET WITena ?

Name the chemical alarm signals released by damaged mast cells.




27.

28.

29.

30.

31.

32.

33.

9 1337 (NP)
e eueriLg @erddled epafludien LikiE, ereer ?

How does light influence in pond fish culture ?

Blenswirer glilenl alerifleng wromsdlermed gHubid Crruller Gluuwm
HmD dGHsamer afleurl.

Mention the name and symptoms of the disease characterised by increased BMR.

epeneTd SaT(heul g Slreugdler Lienser wrenel ?

What are the functions of cerebro spinal fluid ?

2 aTent&aniql S e s&sTam Qam&sl 2 areur@ld - Hlumuliubhés)s.

Oyster meat is nutritious - Justify.

DNA BIe&LD 6TeTmTed 6Tesen ?

What is DNA library ?

peder Blamamuilflwe o (peurs GCorels dlevli o (Heursdw GQFlipenmenwl
ollemsGs.

Which technique did Joseph Lister develop in modern microbiology ? Explain.

9Fls cramatismasullorar en Geflamligser wHmD @Geflf Frger
QuLligsener LaTUBHSSeUSTD Feurs CHTUSET FHLIL& STFenTordlemmg).
@&ammnenm 2idleflwc e Telnrs cdlemd@s.

Usage of large number of air conditioner and refrigerators can cause respiratory
ailments. Explain this statement logically.

[ SlmLiys / Turn over
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U@l - IV/PART - IV

GNILIY : Semesisg efammasErs@h aflenLwafldse, L. 5x5=25

Note : Answer all questions.

34. (&) prd, Yoo CUNEIFSHETS 2 aramel 2 L taTatdCnrid. @bs <,Hme
B 2 L 6) aleTiEHE@D, tFweour’ @b Lweauhdng. (efssassio
Qedwgaier nmmed 2 MHUSHEGDL Qe Cuwrer CFwe Wemaeaner
cllems @ s.

360605
() G@rés, Qréss Gpdad Jnsen Curg g freusseamamweamu
ugmofés Ceuarhib. 2Cs @Qrssb B 2 Lame 6l (h Ceuafleumn Cumrg)
g capsd ol CauarGb. Qbs Q@  HoosEpb
urroflssiurrellLme, B 2 Ldld Lo AFTSTTTEmT Hlenavsar
Caramid. b ASFTHTTERT Hlepasaner 6lleTsEs.
(a) We consume food for energy. The energy is used for physical growth and

activities. Explain the processes present between digestion and energy formation
at cells.
OR
(b)  When the blood is present in the blood vessel, its fluidity must be maintained.
When the blood comes out of the body, it should get clotted. When these two
conditions are not maintained many abnormalities would occur in our body.
Explain those abnormalities.

35. () 2@sarmellu Geulit 2 wreflermed Lulisailg)d, wealgealad gHuhHLD
lleeTe &6 wrened ?
S|V
(<=1,) eremauGugnid @mpbg Beratm Sjomismy Wersemer LHM edleufldsab.
(a) Give the effects of global warming on plants and animals.
OR
(b) Describe the characters of any five freshwater ornamental fishes.

36. (=) Lmedl ererm Gabwm <l (&Gl Carardlu Qewaipern aleaTé&ssams
SHS .
EXEENEY
(=) 28 H&THTT Aenoliber (WHO) Lig, euenrwmisslinil L eriilev Comudler
SINGMEeT Wwreneu ?
(a) Iustrate the mechanism by which Dolly, the sheep was born.

OR
(b) List down the symptoms of AIDS as defined by WHO.




37.

38.

11 1337 (NP)

(=) sreopan_ulle eraflfled Lie culsetled LiFausamiqus Crriiseaer UL iq il (Hs.
360605

(<) B B, 2-udflu 1@ euetid GsrearT Br(hsete eemm. CSMTLHLWIDTESW
STreuroms, BID srhsamer HP&ESHCord. Qg wWe Gurswmer
ellenereyseneT FHLIHSSHEMLD. erem, B 2 ullflwl 1@ cUeTBISEET LIS TS
Cauar(hid ? =jeueurm upmoilgEs Brn Copolgrerer Gouemriq Sl L BigGeT
wrened ?

(a) Tabulate the diseases which are spread easily in cattle.

OR

(b)  Our country is one of the richest biodiversity countries. Due to industrialisation
we destroy forests. It may lead to very serious consequences. Why should we
conserve biodiversity ? What are the strategies we can adopt ?

(=) aNmBECsTLE (Slyme.til Sl& Qupmeur) o L aléd Srmelil @mbgl
QeueNCuDmUILHS S eTemm (M HSSIeUT eTeleurm SevrLdleumT ?
S|V
(=) Caal m Fups SmwlymLwg. @@ Csar gmliqd aparn Frdear

2 éermen. Saneu aennGlwimenn ribdpélemnear. Caeatssafler aurpsans
FLOME LD D ENOUSET 66TEn DOl WITGITM| 6TEGUT) FTTHGICTETE 6T LGNS
ollemsGs.
(a) How will a doctor identify that the host body has rejected a graft ?
OR

(b) Honey bee is a social insect. There are three castes present in a hive. They depend
on each other. By means of life cycle explain their dependence on each other.

-00o0-






